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BRI

1. 03 22 210 %42d 0, 2|8 X5yl 2.

1) Ble#E & stit UL (O, X)
I'm late because I woke up late in the morning.
2) 224 €= 2 AL (0, X)
The tree fell down because of blowing wind.
3) /AIE d7l=#'E stuof At (O, X)
I couldn’t do homework because my friend suddenly called me.
4) D= 7S YRS I=7E OI8E 7IYstA] 2Lt (O, X)
I couldn’t do anything because the weather was too hot.
5) WEALZt e 2UA= THR7I=7H'E BSHA 2H0i|lA 20 LIRtCh
(0., X)

I will get a cold because I slept with the window open last night.

2. Checking your result

L= ‘HEE AESH 232 o= + UL (0, X)
I can make a sentence using ‘7'd’

2) LHs 0 MRS 271271 O 3= gicko] ojojS ¢: QICk (O, X
I can fill in the following blank: ‘11 At&E2 &7|=7'd ot A& QICY
) L= ‘et 48Pl o|0|§ &St Ofsiste UL (O, X)
I can complete the following sentence; tZHst A&t
4) Lt= Of2l O{2|9] o|D|& Y1 Z&E ots & UL

I noticed the meaning.




